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Αριθμητικές Παραστάσεις
· Να υπολογίσετε τις αριθμητικές παραστάσεις:
· 5 * (3 + 8) * 2 = 5*11*2 = 55*2 = 110
· 2 * (4 + 2) * 5 = 2*6*5 = 12*5 = 60
· 7 * (6 + 5) – 18 : 3 + 5 * 4 + 10 = 7*11-6+20+10 = 77-6+20+10 =101
· 10 : 5 + 5 * 4 – 3 * 2 = 2+20-6 = 22-6 = 16
· 8 * 6 – 10 : 5 + 3 * 4 = 48–2+12 = 46+12 = 58 
· 2,2 * 4 + 8 * 7,6 – 4 * 1,1 = 8,8+60,8-4,4 = 69,6-4,4 = 65,2
· 10 * 5 – 0,25 * 4 – 8,2 * 2 = 50-1-16,4 = 49-16,4 = 32,6
· 0,01 * 10 + 0,001 *100 + 10 * 10 = 0,1+0,1+100 = 100,2
· 154,32 : 8 - 2 * 0,36 + 75,55 : 5 = 19,29-0,72+15,11 = 18,57+15,11 = 33,68
· 58,94 : 2,8 - 5 * 0,01 + 63, 8 * 4,4 = 21,05-0,05+280,72 = 7.014
· 46,84 : 2,5 * 100 : 2 = 18,736*100:2 = 1.873,6:2 = 936,8[image: image1.png]



